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CERTIFICATE IN LEATHER GOODS MAKING 
(CLGM) 

Term-End Examination 

June, 2013 

OLG-002 : PRINCIPLE METHODS AND 
SELECTION OF FOOTWEAR AND LEATHER 

GOODS MAKING - II 
Time : 3 hours 	 Maximum Marks : 100 

Note : First question is compulsory. Answer any four from 
the rest. 

1. What are leather goods ? Discuss the functions of 
at least three different types of leather goods. 5+15=20 

2. What are the operations undertaken in a "clicking 20 
room" before the cut components are transferred 
to the "closing room" ? Discuss the importance 
of each operation. 

3. What are the differences between a "slip-on shoe" 20 
and "Moccasin" ? Explain with diagram. Draw 
the sketch of upper components of a "slip on" 
and a "Moccasin". 

4. Write short notes on the following : 	5x4=20 
(a) Peep toe 	(b) Tongue 
(c) Back strap 	(d) Mud-guard 
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5. What is "Lasting 	Mention in brief the 

operations of an upper for "Lasting". Draw 

diagram of drafting pulls. 	 5+5+10=20 

6. How many types of lasting methods are followed 20 

in shoe making ? Describe each of them in brief. 

7. What do you understand by work transportation ? 

Briefly explain about the conveyors used in 

"Closing" and "Lasting" department. 	10+10=20 

8. List the sequence of operations for converting a 20 

slip-on upper into a full shoe. 

9. Discuss the method of attachment of at least five 20 

different types of sole material with leather 

upper. 

10. Define finishing. What are the process of finishing 

of a shoe manufactured out of corrected grain 

(C.G) leather ? 	 10+10=20 
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